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MULTIPLICATION
WORD PROBLEMS

Match the questions with the answers below by making a line.

Each child has 4 tickets.

If there are 6 children, 81 erasers
how many tickets are

there in total?

Robbet has 2 boxes of
tickets. Each box holds

2 tickets. How many
tickets does Robbet have?

Each peanut costs $2.00.
How much do
5 peanuts cost?

54 apples

There are 9 erasers in 24 tickets
each box. How many
erasers are in 9 boxes?

There are 9 apples in
each box. How many 4 tickets
apples are in 6 boxes?




